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<?xmlL version="1.8" encoding="utf-8"?>
<) <androidx.constraintlayout.widget.ConstraintLayout xmlns:android="http://schemas.android.com/apk/res/and
xmlns:app="http://schemas.android.com/apk/res-auto"

xmlns:tools="http://schemas.android.com/tools" & Running Device: = [} x

v Jjava
[ com.example.addtwof
€ MainActivity
> com.example.addtwof (androidTest)
Gl ERcorr e aimpletad-hwoijliesi) android: id="@+id/main" Running Devices: [, Pixel BPro API26 -~ + oo -
7 java (generated) android:layout_width="match_parent" _———
e res android:layout_height="match_parent® O DWW e mf D H
14 drawable tools:context=".MainActivity">
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5% Resource Manager

w Froject

s activity_mainxml <EditText
’ mipmap android:id="@+id/etNuml®
android:layout_width="wrap_content®
es (generated) android:layout_height="wrap_content”
> @ Gradle Scripts android:layout_marginBottom="500dp"
android:ems="10"
android:inputType="number®
app:layout_constraintBottom_toBottom0f="parent®
app:layout_constraintEnd_toEnd0f="parent®
app:layout_constraintStart_toStart0f="parent”
app:layout_constraintTop_teTop0f="parent® />

<EditText

android:id="@+id/etNum2"

android:layout_width="wrap_content®
android:layout_height="wrap_content” Answer 30
android:ems="18"

> values

> xml

android:inputType="number"®
app:layout_constraintBottom_toBottom0f="parent”
app:layout_constraintEnd_toEnd0f="parent”
app:layout_constraintHorizontal_bias="0.5082"
app:layout_constraintStart_toStart0f="parent”
app:layout_constraintTop_teTopOf="parent”
app:layout_constraintVertical_bias="8.3" />

= Bookmarks

<Button
android:id="@+id/btnAdd"
android:layout_width="wrap_content®
android:layout_height="wrap_content”
android:text="add"
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<?xmL version="1.8" encoding="vtf-8"?>

<androidx.constraintlayout.widget.ConstraintLayout xmlns:android="http://schemas.android.con/apk/res/and
Xmins:app="http://schemas.android.com/apk/res-avto"

[schemas .android.com/tools"

android:id="@+id/main"

android:layout_width="match_parent"

android:layout_height="match_parent"

MainActivity's>

tools:context:

<EditText
android:id="g+id/ethuni"
android:layout_width="wrap_content"
android:layout_height="wrap_content*
android:layout_marginBottom="500dp"
android:ems="10"
android:inputType="number*
app:layout_constraintBottom_toBottondf="parent*
app:layout_constraintEnd_toEndof="parent*

“parent*

app:layout_constraintstart_toStartd
app:layout_constraintTop_toTop0f="parent® />

<EditText
androi "@+id/ethun2"
android:layout_width="wrap_content"

android:layout_height="wrap_content*
android:ems="10"

nputType="number*
app:layout_constraintBottom_toBottonOf="parent*
app:layout_constraintEnd_toEndof="parent*
app:layout_constraintHorizontal_bias="0.502"

app:layout_constraintStart_toStarto
app:layout_constraintTop_toTop0f="parent®
app:layout_constraintVertical_bias="0.3" />

<Button
android:id="@+id/btnAdd"
android:layout_width="wrap_content"
android:layout_height="wrap_content*
android:text="add"
app:layout_constraintBotton_toBottom0f="parent*
app:layout_constraintEnd_toEndof="parent*
app:layout_constraintStant_toStart0f="parent*
app:layout_constraintTop_toTop0f="parent*
app:layout_constraintVertical_bias="0.487" />

<TextView

android:id="g+id/tvAnswer"
android:layout_width="85dp"
android:layout_heignt="39dp"
android:layout_marginTop="64dp"
android: text=¥answerf
app:layout_constraintBotton_toBottom0f="parent*
app:layout_constraintEnd_toEnd0f="parent®
app:layout_constraintHorizontal _bias="0.506"
app:layout_constraintStart_toStart0f="parent*
app:layout_constraintTop_toBottom0f="@+id/btnAdd"
app:layout_constraintVertical_bias="0.0" />

</androidx.constraintlayout.widget.ConstraintLayout>

parent* _

package com.example.addtwor;
android.annotation.suppressLint;
android.os.Bundle;
android.view.View;
android.widget.Button;
android.widget.EditText;
android.widget. Textview;
androidx.activity.EdgeToEdge;
androidx.appcompat.app. AppCompatActivity;
androidx.core.graphics. Insets
androidx.core. view.ViewCompat;
androidx.core. view.WindowInsetsConpat;

inport
inport
inport
inport
inport
inport
inport
inport
inport
inport
inport

public class MainActivity extends AppCompatActivity {

2usages
private EditText numi;

2usages
private EditText num2;
2usages
private Button add;
2usages
private TextView result;
@SuppressLint (*MissingInflatedId®)
@0verride

protected void onCreate(Bundle savedInstanceState) {

super.onCreate(savedInstanceState) ;

EdgeToEdge . enable( SthissenablcEdgeTokdg
setContentView(R.layout. activity_main

his);

numl = (EditText) findviewById(R.id.etNum1);

numz = (EditText) findviewById(R.1id.etNum2);

add =(Button) findviewyId(R.id.btnAdd);

result= (Textview) finaviewById(R.id.tvAnswer);
add.setonClickListener(new View.OnClicklistener() {

@override

public void onClick(view v) {
int numberl = Integer.parseInt(numl.getText().toString());
int number2 = Integer.parseInt(num2.getText().toString());

int sum=numberl+number?2;
resuLt.setText(*Ansuer

*+ string. valueds(sumy);



package com.example.addtwof;

import andreid.annotation.Suppressiint;
import android.os.Bundle;

import android.view.View;

import android.widget.Button;

import android.widget.EditText;

import andreid.widget.TextVie
import androidx.activity.EdgeToEdge;

import androidx.appcompat.app.AppCompatActivity;

<?xml version="1.8" encoding="utf-8"?> v

® <androidx.constraintlayout.widget.ConstraintLayout xmlns:android="http://schemas.android.com/apk/res/and|

xmlns:app="http://schemas.android.com/apk/res-auto”

xmlns:tools="http://schemas.android.con/tools"

android:id="@+id/main"

android:layout_width="match_parent®

android:layout_height="match_parent®

tools:context=".MainActivity">

. import androidx.core.graphics.Insets;
<EditText

L . import androidx.core.view.ViewCompat;
android:id="@+id/etNum1 . . . .

. L import androidx.core.view.WindowInsetsCompat;
android:layout_width="wrap_content®

android:layout_height="wrap_content*®
android:layout_marginBottom="580dp"
android:ens="16"
android:inputType="number®

public class MainActivity extends AppCompatActivity {
2 usages

private EditText numl;

2 usages
app:layout_constraintBottom_toBottom0f="parent" = .
. private EditText num2;
app:layout_constraintEnd_toEnd0f="parent” 5
usages
app:layout_constraintStart_toStartOf="parent® . o
. private Button add;
app:layout_constraintTop_toTopOf="parent® />
2 usages
. private TextView result;
<EditText A .
L N @SuppressLint("MissingInflatedId")
android:id="(@+id/etNum2 .
@lyerride

android:layout_width="wrap_content®
android:layout_height="wrap_content"®
android:ens="10"

android:inputType="number®
app:layout_constraintBottom_toBottomof="parent®
app:layout_constraintEnd_toEnd0f="parent”
app:layout_constraintHorizontal _bias="6.502"
app:layout_constraintStart_toStart0Of="parent"®
app:layout_constraintTop_toTopOf="parent"
app:layout_constraintvertical_bias="8.3" />

protected void onCreate(Bundle savedInstanceState) {
super.onCreate(savedInstanceState);
EdgeToEdge . enable- SthisSenableEdgeTobdge: this);
setContentView(R.layout activity_main);

Jethum1)
ethum2);
—

Add);

id.tvAnswer);

e

aud-sEL0nClickLI:

lickListener() {
foverride
<Button public void-ofClick(vieiwr

e ialeras int numberl = Integer.pdrse A@ etText().toString());
android:id="@+1 - ! ger.p: N g ! g());
android:layout_width="wrap_coentent" int number2 = Integer.parseln qeﬂext().tnstrlnq());
android:layout_height="wrap_content” int sum=numberlsnumber2;
android:text="add" seﬂext('Answer "+ String.value0f(sum));
app:layout_constraintBottom_toBottom0f="parent® ¥
app:layout_constraintEnd_toEnd0f="parent" = w
app:layout_constraintStart_toStartOf="parent® -

app:layout_constraintTop_toTopOf="parent"
app:layout_constraintvertical_bias="0.487" />

<TextvView

android :-@.
android:layout_wid ap
android:layout_height="39dp"
android:layout_marginTop="64dp"
android:text="Answer®
app:layout_constraintBottom_toBottom0f="parent®
app:layout_constraintEnd_toEnd0f="parent”
app:layout_constraintHorizontal_bias="0.506"
app:layout_constraintStart_toStart0f="parent”
app:layout_constraintTop_toBottom0f="@+id/btnAdd"
app:layout_constraintVertical_bias="0.8" />

</androidx.constraintlayout.widget.ConstraintLayouts




import android.os.Bundle;

import android.view.View;

import android.widget.Button;

import android.widget.EditText:

import android.widget.TextView;

import androidx.activity.EdgeToEdge;

import androidx.appcompat.app.AppCompatActivity;
import androidx.core.graphics.Insets;

import androidx.core.view.ViewCompat;

import androidx.core.view.WindowInsetsCompat;

public class MainActivity extends AppCompatActivity {

2 usages

private EditText numl;

2 usages

private EditText num2;

2 usages

private Button add;

2 usages

private TextView result;

@SuppressLint(*MissingInflatedId®)

@0verride

protected void onCreate(Bundle savedInstanceState) {
super.onCreate(savedInstanceState);
EdgeToEdge . enable( SthisSenableEdgeToEdge: this);
setContentView(R.layovt.activity_main);

numl = (EditText) findViewById(R.id.etNuml);

num2 = (EditText) findViewById(R.id.etNum2);

add =(Button) findViewById(R.id.btnAdd);

result= (TextView) findViewById(R.id.tvAnswer);
add.setOnClickListener(new View.OnClickListener() {

@Override

public void onClick(View v) {
int numberl = Integer.parseInt(numl.getText().toString());
int number2 = Integer.parseInt(num2.getText().toString());

int sum=numberl+number2;
result.setText("Answer "+ String.valuveOf(svm)) ;
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